Math 3








Name: _________________________
Mod 3, Day 6







Date: ______________ Period: _____
Factor Higher Degree Trinomials
	Factoring higher degree trinomials is very similar to the method we use when factoring quadratics.  

	Example:  
Factor the quadratic 
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	Example:  
Factor 
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	Trinomials such as 
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 can also be written in quadratic form as 
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Ex:  
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These trinomials can be factored as the product of two binomials.  Split 
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.  These will be the first terms in the binomials.  

Ex:  
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	a)  
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	c)  
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	d)  
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	e)  
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	f)  
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	g)  
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	h)  
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	i)  
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	As you factor these, watch out for difference of squares.  You may have to factor even further!

	j)  
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	k)  
[image: image20.wmf]16

4

-

x




Graphing Polynomial Functions

Determine the following information for each polynomial function.  Graph the function.

	1.  
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zeros: _____________ 

degree: ____  leading coefficient: 
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Endpoint behavior:  (choose one)
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	2.  
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zeros: _____________ endpoint behavior:  _______

degree: ____  leading coefficient: 
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	3.  
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zeros: _____________ endpoint behavior:  _______

degree: ____  leading coefficient: 
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___   y–int: ______
(With a _______________ factor, the polynomial is _____________ to the x–axis at the ___________.
	

	4.  
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zeros: _____________ endpoint behavior:  _______

degree: ____  leading coefficient: 
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	5.  
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zeros: _____________ endpoint behavior:  _______

degree: ____  leading coefficient: 
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	6.  
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zeros: _____________ endpoint behavior:  _______

degree: ____  leading coefficient: 
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	7.  
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zeros: _____________ endpoint behavior:  _______

degree: ____  leading coefficient: 
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	8.  
[image: image35.wmf](

)

3

3

yxx

=-


zeros: _____________ endpoint behavior:  _______

degree: ____  leading coefficient: 
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___   y–int: ______
	


Summary:  When we graph a polynomial function, 

1) Determine and graph the __________________.  (y = __ )  ( _____________ if necessary.)

2) Graph the ____________________.  (x = __ )

3) Find and graph the _______________ behavior.
4) Remember, the polynomial function is __________________ to the x-axis for any ___________________ zeros.

5) Graph the rest of the polynomial.
Mixed Practice
	I.  Determine the following information for each polynomial function.  Graph the function.

	a)  
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Zeros: ________  Degree: _____

y-intercept: _____



	b)  
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Zeros: ________  Degree: _____

y-intercept: _____



	c)  
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	II.  Find each product or quotient.  Assume that no denominator has a value of 0.

	1. 
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	2. 
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	4.
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	6.
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	7.
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	8.
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	9.
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